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Question Number : 1 Question Id : 7155054222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

LetA=1{1,2.3,4.5.6,7}. ThentherelationR={(x, 1) EAxA:x+y =T} 1s

Options :

71550513341 . reflexive but neither symmetric nor transitive

71550513342, symmetric but neither reflexive nor transitive

71550513343, transitive but neither symmetric nor reflexive

71550513344, an equivalence relation

Question Number : 1 Question Id : 7155054222 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
OHIA={1,2,3.4,5.6, T} Bl A UdY R = {(x.)) EAxA:x+y=T}
Options :

71550513341, T99eY & TR 7 dl GAAT & -1 &1 HebHD ©

71550513342, SHI § TR -1 Il WY € -1 61 GP1HP ©

71550513343, UPTHD © TR 7 Il TWJed & 7 ¢l IHHT T

71550513344, UP QoA UsY &

Question Number : 2 Question Id : 7155054223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1+2isin8 . .
Let A= -{E‘ €(0,27): —— is purely lmﬂgmal}’} . Then the sum of the elements in A is
—Isin

Options :
71550513345, 2 «
71550513346, 3 &

71550513347. 4 @

71550513348. «

Question Number : 2 Question Id : 7155054223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Yisi . ' -
A A = {e B L) qmzﬂ?ﬁ?fg} | T A 3faudl &1 TR 3

1 —ismn@
Options :

71550513345. 2 &
71550513346. 3 @
71550513347. 4 @

71550513348. «

Question Number : 3 Question Id : 7155054224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let S be the set of all values of 8 € [, m] for which the system of linear
equations
x+y+ ﬁ: =0

—x+(tan®) y+ J7z=0

x+y+(tan0)z=0

120
has non-trivial solution. Then Z 0 is equal to
bes
Options :
71550513349. 10
71550513350. 20

71550513351. 30

71550513352. 40



Question Number : 3 Question Id : 7155054224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 8 € [, 7] & 9 g1, 5% fou Yae adiexu Ham

oh
x+y++3z=0

—x+(tanB) y + J1z=0
x+y+(tan0)z=0

ﬁra@ﬁ%ﬁwﬁm‘[@ZH e’
T Bes

Options :

71550513349. 10
71550513350. 20
71550513351. 30

71550513352. 40

Question Number : 4 Question Id : 7155054225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| 7 2
If A= { HJ,A_I =gA+pland o+ p=-2, then 40+ B>+ )2 is equal to :
A

Options :

71550513353. 10

71550513354. 12



71550513355. 14

71550513356. 19

Question Number : 4 Question Id : 7155054225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 4- {' 5:|:A_1=41A—B1?fiﬂu+[3=—2%_.t_‘ﬁ4u2+ B2+ 32 I &

A 10
Options:

71550513353. 10
71550513354, 12
71550513355. 14

71550513356. 19

Question Number : 5 Question Id : 7155054226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the number of words, with or without meaning, which can be made using all the
letters of the word MATHEMATICS 1in which C and S do not come together, 13
(61)k. then k is equal to

Options :

71550513357. 945

71550513358. 1890



71550513359. 2835

L
o
-1

71550513360. 53670

Question Number : 5 Question Id : 7155054226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4fc; Te& MATHEMATICS & Ht 3&RT & TRIT § §H1U o Hab- arai, 3ol a1
e g, O ¢ quT s Uo T A 81, 3 ST (61)k B, Al k RIER & -

Options :

71550513357. 945

71550513358. 1890

71550513359. 2835

71550513360. 5670

Ly

Question Number : 6 Question Id : 7155054227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

25190 _ 19190 _ g190 4 5190 ¢ divisible by
Options:

71550513361, both 14 and 34

71550513362, 14 but not by 34



71550513363, 34 but not by 14

71550513364. neither 14 nor 34

Question Number : 6 Question Id : 7155054227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
2519'2' . 1919':' o 815"[' a3 219'3

Options :

71550513361, 14 QYT 34 GHI 4 fqursa 8

71550513362, 14 ¥ fA4IST & 0R=g 34 § Tl
71550513363, 34 T fAHTST & TR 14 ¥ el

71550513364, 7 al 14 H 81 34 ¥ faur=T 8

Question Number : 7 Question Id : 7155054228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2 ; / I 11
The absolute difference of the coefficients of x'° and x” in the expansion of szl +—J is equal to
2x

Options :

71550513365, 11° — 11

71550513366. 12° — 12



71550513367 10° — 10

71550513368, 13° — 13

Question Number : 7 Question Id : 7155054228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

/ i : . G & ;
sz%.zlj & YR H x10 U7 7 & T[UTieh! B HRUE SR SRIeR §
X

Options:

71550513365, 11° — 11
71550513366, 127 — 12
71550513367 10° — 10

71550513368. 137 — 13

Question Number : 8 Question Id : 7155054229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

n
Leta, be the n term of the series 5+ 8+ 14+ 23 +35+ 50+ .. and S, = d,. Then Sqn— a4 15 equal to
il n k 30" dg 3 eq
k=l

Options :

71550513369. 11260



71550513370. 11280
71550513371. 11290

71550513372. 11310

Question Number : 8 Question Id : 7155054229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT I0R 5+ 8+ 14+23+35+50+... BIa UG a_ gaus, =y a3l
k=l

Options :

71550513369. 11260
71550513370. 11280
71550513371. 11290

71550513372. 11310

Question Number : 9 Question Id : 7155054230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If o> p > 0 are the roots of the equation ax” + bx + 1 =0, and
!

o I—cus(_r‘ +b,:+.:;-) - :l[ I
.v—}l, 2(1- r,r.r)' k

(44

B a

] . then k 1s equal to



Options :

71550513373. «

71550513374, P

71550513375. 2o

71550513376 2P

Question Number : 9 Question Id : 7155054230 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g GHIBRIT ax? +bx+1=0 P Hd o> B> 07 aUl
L)
I—(.‘ua:.(_'r:2 +b.r+a) : -
lim e . 8. d k R &
1 : B «a

1—}{? 2(1 H.T)- . ;l_

Options :

71550513373. ©

71550513374, P

71550513375. 2o

71550513376. 2P

Question Number : 10 Question Id : 7155054231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

. I/"-.'I'[' .-}\I'l.k‘u ]
Thenﬂegaij |;| +[:-: log, x dv 1s equal to
\2/) \x/ }

Options :

( x ].‘t’ P ( 2 ].'I.' {
= — | =
71550513377. . 2 X

-

71550513378. \-J | ]

71550513379. 2 | Hl‘ | .
\. N

X

X .
—J log, |+{
71550513380. ' 2

Question Number : 10 Question Id : 7155054231 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(Y 7Y

@-TWI |—W +(1 | | log,x dx TR B
\2/) A\x)

Options:

X ]1 ; ( 2 J’I ”
T = -+
71550513377. . 2 X

U
(iJ - i] +C
b ;

71550513378. . =

X
71550513379. \. 2/



Ty
[ x

71550513380. .=/

f'z‘\|+{‘
X/

Question Number : 11 Question Id : 7155054232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let O be the origin and OP and OQ be the tangents to the cirele x* + )% — 6x + 4y + 8 = 0 at the points P and Q
/

: I : ; | .
on it. If the circumeircle of the triangle OPQ) passes through the point { a,EJ, then a value of ¢ is

Options :

b | =

71550513381.

71550513382. 1

b | e

71550513383.

ka3 | n

71550513384.

Question Number : 11 Question Id : 7155054232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O 0 Hd foig § TUTOP 3R 0Q Gl a2 + )2 — 6x + 4y + 8= 0 & fag3fi PAUTQ
R R 3@ §1 3¢ s opQ &1 9fkaw, ﬁg(m%}@ﬁ?ﬂm%ﬁ o T
TP A & k'

Options :



b | =

71550513381.

71550513382. 1

b | e

71550513383.

ka3 | n

71550513384.

Question Number : 12 Question Id : 7155054233 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let A (0, 1). B(1, 1) and C (1, 0) be the mid-points of the sides of a triangle with

incentre at the point D. If the focus of the parabola y* = 4ax passing through D is
(44

{a' — ,EN'( 2. D]_. where o and [ are rational numbers, then —_75 iz equal to

p

Options :

71550513385.

o

71550513386.

71550513387. §

71550513388. 12

Question Number : 12 Question Id : 7155054233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T TS BYS &1 Yoirell & 52 fdg A (0, 1), B(1, 1) TUTC (1, 0) § OUT 39T
3id:beg; fdg D IR 81414 D U G o alel URAT 32 = dax B AN

- ) . w3 (4 =
{a+{f~’rzﬁﬂ]%ﬁ|€hﬂm[3qﬁﬁﬂw%,ﬂ}[ﬁ;W%’:
Options :

2
71550513385, 2
71550513386. 6

71550513387. §

71550513388. 12

Question Number : 13 Question Id : 7155054234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

oo R
Let P be the plane passing through the line 1T] o ? and the point (2, 4, -3). If the image of the

point (-1, 3, 4) in the plane P s (o, b. ) then o+ p +  1s equal to
Options :

71550513389. @

71550513390. 10

71550513391. 11

71550513392. 12



Question Number : 13 Question Id : 7155054234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T feg (2, 4, -3) qUI @I 3"1_] - -‘:z = 2:5 Y BPX o AT YA P & |

qie fdg (-1, 3, H) BT A P H IRICT (c. ﬁ ») 8.l a+p+y TR o:

Options :

71550513389. ¢
71550513390. 10
71550513391. 11

71550513392. 12

Question Number : 14 Question Id : 7155054235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fora,b € Zand |a—bl = 10, let the angle between the plane P: ax + y—z="b and

!
theline/:x—-1=a—-y=z+1becos l[% J If the distance of the point

(6. —6. 4) from the plane P 1s ,‘w'/g_. then at +b% is equal to

Options :

[
L

71550513393.

71550513394, 32

71550513395. 48

L

71550513396. &



Question Number : 14 Question Id : 7155054235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a,be ZdUl ja—b| <10 D o0, AHI YHAA P: ax + y—z = b dYUI
I" .
Ml :x-1=a—y=z+1 D dd BB cos '[% 13k fdg 6. —6. 4P
=S

TOAA P Y EE 346 8, A a* + b? SRIER T

Options :

71550513393. 25

71550513394, 32

71550513395. 48

71550513396. 85

Question Number : 15 Question Id : 7155054236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the quadrilateral ABCD with vertices
A(2,1,1).B(1,2,5).C(-2.-3.5)and D (1, —6. —7) is equal to

Options :

71550513397. 48

71550513398, 8+/38

71550513399, 9v/38



71550513400. 54

Question Number : 15 Question Id : 7155054236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

N ﬂ-'A{E, 1,1),B(1,2,5).C(-2,-3,5)ddID(1,-6,-7) %ﬂﬂﬂﬂ ABCD &I
&AHH 8-
Options :

71550513397, 48
71550513398, 8+ 38

71550513399, 9+/38

71550513400. 34

Question Number : 16 Question Id : 7155054237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Let the vectors ij = + j+ak, il,=i +bj +k andgi, =ci+ j+k be
coplanar. If the vectors v, = (a +b )f + (,f +ck:v, =a i (f) +c }j + ak and
v, =b i+ j?}' + ((_- 4 ;;)kﬁ are also coplanar, then 6 (a + b + ¢) is equal to

Options :

71550513401. O

71550513402. 4



71550513403. 6

71550513404. 12

Question Number : 16 Question Id : 7155054237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR G = {4+ ak, it,=i +bj +k i, =ci + ] +k RESRIEE

AWy, =(a+b)i +¢j +ck-v, =ai+(b+c)]+ak. I

v, =bi+bj+(c+a)k 1l I8 B, Al 6 (a+ b+ c) TR G

Options:

71550513401. O
71550513402. 4
71550513403. 6

71550513404. 12

Question Number : 17 Question Id : 7155054238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the probability that the random wvariable X takes values x 1z given by

PX=xFk(x+1)37%x=0,1,2, 3, ..., where k is a constant, then P(X > 2) is
equal to

Options :



71550513405. 18

71550513406. 18

ra
-ql“‘"

71550513407.

]
o

|

71550513408. 2

Question Number : 17 Question Id : 7155054238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O ATefwsd @R X & O x A &I
WRGA P(X =x)=k (x +1)3%,x=0,1,2, 3. ... 8, 96l k TP 3R 8, A P(X = 2)
TR ¢;

Options :

71550513405. 18

71550513406. 18

2
ql“‘*’

71550513407.

-2
L

|

71550513408. 2



Question Number : 18 Question Id : 7155054239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. . 9 . .
Let the mean and variance of 12 observations be — and 4 respectively, Later on, 1t was observed that two
l)
B m

observations were considered as 9 and 10 instead of 7 and 14 respectively. If the correet variance 1s —, where
n

m and n are coprime. then m + 1 18 equal to
Options :

71550513409. 314
71550513410. 315
71550513411. 316

71550513412, 317

Question Number : 18 Question Id : 7155054239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 12 T80T S FTe o1 TRRUT S 2 T 4 8 | §T8 1 98 Ura1 71 3 31

efuit 7 GUT 14 F U TR FHH: 9 U7 10 A UL H&Gﬁﬂﬂw%%‘aﬁ

m TUT n HISHUTST &, Tl m + n SR B:

Options:

71550513409. 314
71550513410. 315

71550513411. 316



71550513412. 317

Question Number : 19 Question Id : 7155054240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of 36 (4 cos® 9° — 1)(4 cos® 27° — 1)(4 cos® 81° — 1)(4 cos” 243° — 1) is

Options :

71550513413. 18

71550513414, 2

71550513415. 36

L
Y

71550513416. >

Question Number : 19 Question Id : 7155054240 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

36 (4 cos? 9° — 1)(4 cos? 27° — 1)(4 cos? 81° — 1)(4 cos® 243° — 1) BT HH ©:
Options :

71550513413. 18

71550513414, 27

71550513415, 36

71550513416. 54



Question Number : 20 Question Id : 7155054241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The negation of (p A~ g }} v (~ p) is equivalent to

Options :

71550513417, PV 9V (=~ P))

71550513418. P "4

71550513419, P A~ )

71550513420, P M4 A (~ P))

Question Number : 20 Question Id : 7155054241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(pA(~g))v(~ p}ﬁﬁa‘iﬁwwiff?

Options :

71550513417, PV 9V (= P))

71550513418. P "4

71550513419, P A~ )

71550513420, P Ma A (~ p))



Mathematics Section B

Section Id : 715505260
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505260
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155054242 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(6x +5r+l]
+ 008

3.1"'—31'-1-4'1‘ . - PO O, N
T | is (o, B) U ( . 8], then 18 (a™+ p+ y~ + 87

If domain of the function log

€l 2x-1

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 21 Question Id : 7155054242 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F Fy

2x° —3x+4)

Ix—5

~1

Bx” +5x+1 ‘
= e e

i )
al 18 (02+ prey?+ 32) NS &

Response Type : Numeric

afe B log,, FTId (0. p) U (. 8] &.

;

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054243 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let m and n be the numbers of real roots of the quadratic equations
XX —12x+[x] +31=0and x* — 5 | x + 2 | -4 =0 respectively, where [x] denotes

the greatest integer <x. Then m” + mn + n? is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054243 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AT FHIGRON 22 - 12x + [x] + 31 =0 U x? = 5 | x + 2 | - 4 = 0 & AR Tl
P TR HHLL: m TN 1 8, 5161 [x] TETH QUNP < x § 1 A m*+mn+n’ SRIER &:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054244 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

LetR={a.b.c,d. e} and S = {1, 2. 3, 4}. Total number of onto functions f: R—S§
such that f(a) £1. 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054244 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AFTR = {a, b.c.d. e} TUTS = {1. 2,3, 4} T MDD Bl f: R—s e
[0 £ (a) 21 €. P P S &:

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054245 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g [ : : .
Let 0 < z <y <x be three real numbers such that —,—.— are in an arithmetic
Xy

-

3

progression and x /2y, z are in a geometric progression. If xy + yz+zx = NG xyz

.then 3(x+y+ z}: is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054245 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

oy [ - e 5, ]. ].
HH1 o aRAfd® @M 0 <z <y <x SHUPR G [ —,—,
X

1
yz

%H‘?ﬂ X, \I“EJ_._. z ﬁqﬂﬂﬂT aﬁﬂf{%{[ qﬁ{.q_n-' +VI+Ex= \;E xvz %.- L_‘ﬁ

U gHIR g¢1 °

3(x+y+z) TRE
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054246 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let k and m be positive real numbers such that the function

L — 8/'(8)
g Ixt+kJyx+1, O<x<l . ... ; . —_ .
flx)= ! +ﬁ M 1q+ R is differentiable for all x> 0. Then _ (1Y 1s equal
mx” +k-, x=1 _I|RJ

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054246 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O YT aRdidd 9Ed k AU m ST UPR § [P B

— Sf"(SJ
Py tREEL “"""'mﬁwm%ﬁqeﬁwﬁﬂ%ﬁ 71 SRR
mx* +k* x21 LRJ

©:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054247 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

;
Let [¢] denote the greatest integer function. If _f[_{-’} de=a+ ﬁ\ﬁ 2 },\@ +5+/5 . then a+f+y+dis
equal to :

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054247 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

24
AT [1] AETH JUTTe B ¢ | T H.rl] de =+ V2 +y\3+645 e,

Mo+ B+y+ 6 R 5

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 27 Question Id : 7155054248 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the area enclosed by the lines x +y =2, y=0, x = 0 and the curve f(x)=min { ¥ +§, | +[.¥]} where [x]
denotes the greatest integer < x, be A. Then the value of 12 A is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054248 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
O [x] HTH YUND < x 8| TFT @187 x +y =2, y =0, x = 0 AU dsh

_}"[~*~f7}=min{x2 +§, 1 +[xj} AR AT FHTATFAATI Tl 12 ABTHH &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054249 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



: T A . .
Let the solution curve x = x (), 0=y <=, of the differential equation

e

. T 1
(log. (cos ¥))” cos y dx — (1 + 3x log,(cos ¥))sin y dy = 0 satisfy I{ ]: ;
3) 2log.2
7 I ; :
Ifx —-J = , Where m and n are coprime, then m# is equal to
6/ log m—log n

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054249 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T 3aHa THIHRI (log,. (cos ))° cos vy dx — (1 + 3x log.(cos ¥))siny dy =0,

BIEA TP x =x(), 0< y< = ; .x{f)z—-l— DI Gy Bl o | TG
- 3) 2log,2
X {E] — ! %: Glﬁb.fm dyTl n AHgHI % al mn W%:
6) log, m—log, n

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054250 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The ordinates of the points P and Q on the parabola with focus (3, 0) and directrix x = -3 are in the ratio 3:1. If

R (o, P) 1s the point of infersection of the tangents to the parabola at P and Q, then P equal to
a

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054250 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Raay forIe! 11 (3,0) 7U1 Fadi x = -3 §, & fagaff p aut Q &1 Fifeaf
3:1 % SUd 4 51 fc P U1 Q UR IRAWT B TR X@13H BT Uid=se

IR @ p R d s =R

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054251 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let Py be the plane 3x —y — 7z = 11 and P, be the plane passing through the points
(2.-1.0).(2.0.-1), and (5, 1, 1). If the foot of the perpendicular drawn from the
point (7, 4, —1) on the line of intersection of the planes P; and P, 1s (. B, 7).

then o + p + 718 equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054251 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O P, UG 3x -y — 72 =11 g aul fdgafl 2. -1, 0), 2, 0, -1y qUI (5, 1, N A
Gl S dIdl §Hqd P, &1 Af4 fdg (7, 4, —1) 9 SHAdl P, YT P, B Uldwsed
T R STel U &d DI UTE (o, B, 1) B, Al o+ p+ y SRR o

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 715505261
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505261
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 7155054252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I LISTII
A |Torque e
B. [Stress II p2r2
C. [Pressure gradient I pr it
D. |Coefficient of viscosity IV. 12

Choose the correct answer from the options given below:
Options:

71550513431, A-IL, B-IV, C-I. D-1I

71550513432, A-IL B-I, C-IV, D-III

71550513433, A-IL, B-IV, C-I. D-III

71550513434, A-IV. B-II. C-III, D-I

Question Number : 31 Question Id : 7155054252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

1 1 1 AT 11 & 1Y e &3
g1 T

A [g ol I w1272

B. [Wfded I pML2T

C. [ald Uduidi 11 puvr 171

D. [ROdT UNd IV ML-IT

9 feu e fom el o 9 9l 3w -
Options:

71550513431, A-IIL B-IV, C-1, D-II
71550513432, A-IL, B-I. C-IV, D-III
71550513433, A-IL B-IV, C-I, D-III

71550513434, A-IV. B-II. C-III. D-I

Question Number : 32 Question Id : 7155054253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For particle P revolving round the centre O with radius of circular path r and angular velocity o, as shown in
below figure, the projection of OP on the x-axis at time t 1

Y _P(t)

P(t=0}

T=65 ; x

Options :

71550513435, X (t) = rcos(wt)



"
x(t) = rcos (mt — —m)
71550513436,

rcos (mt + E)

x(t) e

71550513437.

x(t) = rsin (mt + E)

71550513438, 6

Question Number : 32 Question Id : 7155054253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

EfId A & SR, « o ot 0 R BT 7 0 8 &5 0 & IRT 3 0 T8 BV & ey, §0 + R
0P 1 x-31& T U] (FoIFe) B

Options :

71550513435, X () = rcos(wt)

x(t) = rcos (mt — Ew)

71550513436, 6

L) Eornos (mt + E)

71550513437. 6



x(t) = rsin (mr - E)

71550513438. 6

Question Number : 33 Question Id : 7155054254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The temperature at which the kinetic energy of oxygen molecules becomes double
than its value at 27°C is

Options:

71550513439, 327°C
71550513440. 627°C
71550513441, 927°C

71550513442, 1227°C

Question Number : 33 Question Id : 7155054254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e o, o IR 3ffadisr Sfupsf &1 T1fas Soll o1 A I 27°C dI9HH
RIS ol & T D1 GHMHI 61 ST, 98 6:

Options :

71550513439. 327°C

71550513440. 627°C

71550513441. 927°C



71550513442, 1227°C

Question Number : 34 Question Id : 7155054255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Work done by a Carnot engine operating between temperatures 127°C and 27°C 1s
2 kJI. The amount of heat transferred to the engine by the reservoir is :

Options :

71550513443, 2 kJ

71550513444, 2.67 kJ

71550513445, 8 kJ

71550513446. 4 kI

Question Number : 34 Question Id : 7155054255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

127°C U4 27°C AT99HI & T SRR U Bl goi gRI fbal T &1 2 kI 8
HSR RIS &1 31 g S I 9H1 &

Options :

71550513443, 2 kJ

71550513444, 2.67 kJ

71550513445, 8 kI



71550513446. 4 kI

Question Number : 35 Question Id : 7155054256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A hydraulic automobile lift 1s designed to lift vehicles of mass 5000 kg. The area of cross section of the
cylinder carrying the load 1s 250 em*. The maximum pressure the smaller piston would have to bear 1s

[Assume g = 10 m/s’];

Options :

71550513447, 20 = 1070 Pa

71550513448, 2 = 107 Pa

71550513449, 200 = 1070 Pa

71550513450. 2 * 1079 Pa

Question Number : 35 Question Id : 7155054256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TP SRS ST [CTHC P1 5000 ke SO O & 16| @1 SoH & [0 &1 T 3| YR SoH
] 9T 1 SR PIE BT §ABT 250 e’ & | HUSTEHT BIC U GR1 g off b aren St Gl
%(HFH g =10 m/s):

Options :

71550513447, 20 = 1070 Pa

71550513448, 2 = 107 Pa



71550513449, 200 = 107° Pa

71550513450, 2 * 107 Pa

Question Number : 36 Question Id : 7155054257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The acceleration due to gravity at height h above the earth if h<<R (Radius of
earth) is given by

Options :

) ( 2!’3]
g =gl ——
71550513451. R

=s(1-5z)
g'=g[1-—
71550513452 2R

71550513453.

71550513454,

Question Number : 36 Question Id : 7155054257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gfg he<R (! Bt AN, Gl I h Fas W Toig @R g

Options :

71550513453.

, [ 2&1]
g=g|1- 5
71550513454, R

Question Number : 37 Question Id : 7155054258 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The orbital angular momentum of a satellite is L, when it is revolving in a circular
orbit at height h from earth surface. If the distance of satellite from the earth
centre 1s increased by eight times to 1ts initial value, then the new angular

momentum will be-

Options :

71550513455, 3L

71550513456. 4L

71550513457. 8L

71550513458. 9L



Question Number : 37 Question Id : 7155054258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl a9 h $HdTz R goild e T UReHU R Ig U IUAE B Haily il

YL 31 9 9ol & &5 U IUUE B 5t Bl 5P URAUS TH &1 3118 T

Options :

71550513455, 3L

71550513456. 4L

71550513457, 8L

71550513458. 9L

Question Number : 38 Question Id : 7155054259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I : Area under velocity- time graph gives the distance travelled by the body in a given time.
Statement II ; Area under acceleration- time graph 1s equal to the change in velocity- i the given time.

In the light of given statements, choose the correct answer from the options given below.
Options:

71550513459. Both Statement I and Statement II are true.

71550513460. Both Statement I and Statement I are False.



71550513461. Statement I 1s correct but Statement I1 15 false.

71550513462. Statement I is incorrect but Statement IT 1s true.

Question Number : 38 Question Id : 7155054259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SYF I : I I HFRG & I 1 g0, 9% gRI QU U I B T &1 715
0 &1 weiRid T g

HYT 11 : 7RO 90T IRE & e 1 &%, fau 0 95g § 61§ 3U gikadd
Bl U Rid PRAT g |

Suad Byl & de H, A feu e faeedl & 9 |alle Sugead SR I

Options:

71550513459, PUTI UG FYF I &HI T o |

71550513460, PUT 17T HUF I GHI STA B |

71550513461, PUT 1 G & TR DU 11 7107 &

71550513462, DU I 3T § TRg FUA 1 T |

Question Number : 39 Question Id : 7155054260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'I

The trajectory of projectile, projected from the ground is given by y = y— — . Where x and y are measured in
20
meter. The maximum height attained by the projectile will be.

Options :

71550513463. 5 m

71550513464, 102m

71550513465. 10 m

71550513466. 200 m

Question Number : 39 Question Id : 7155054260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRITA U WA Py T e & gy &l , -,1__ Wﬁmﬂtﬁ% SefxUdy
Jﬂaﬁmﬁﬂuamﬁﬂmmwaﬁiﬁﬂmﬁﬁﬂ

Options :

71550513463. 5 m

71550513464, 10v2m

71550513465. 10 m

71550513466. 200 m

Question Number : 40 Question Id : 7155054261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A bullet of mass 0.1 kg moving horizontally with speed 400 ms™ hits a wooden block of mass 3.9 kg kept on a
horizontal rough surface, The bullet gets embedded nto the block and moves 20 m before coming to rest. The
coefficient of friction between the block and the surface 1

(Grveng=10 111-’32)
Options :

71550513467. 0.25
71550513468. 0.50
71550513469. 0.65

71550513470. 0.90

Question Number : 40 Question Id : 7155054261 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

400 ms™ 1 =761 § 81! o720 5 Tl 5 0.1 kg FOAHT B T 1T, R Aol 70 TR T 39 kg
COIHH dTC S| & e Y ChIa | TIel, e R oIl § Ud § Mm99 § 08 20 o Tl
HRACEREREEakeL R

(ﬁm%_r 10 111-’52}

Options :

71550513467. 0.15

71550513468. 0.50

71550513469. 0.65

71550513470. 0.90



Question Number : 41 Question Id : 7155054262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Electric potential at a point 'P' due to a point charge of $x10°°C is 50 V. The distance of ' from the point
charge 1s:

I iy
(Assume, —=9x10”Nm’C™)
' e

Options :

71550513471. 90 em
71550513472, 3 cm
71550513473. 9 cm

71550513474, 0.9 cm

Question Number : 41 Question Id : 7155054262 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5x10°°C 9Tl fag 3i1a% & SR, fdg P &R faggd faya 50 v g1 fdg P $i fag
AT ¥ &3 ©:

(I,

—9x 10" Nm7C™? )

domey,
Options :
71550513471. 90 em

71550513472, 3 cm

71550513473. 9 cm



71550513474, 0.9 cm

Question Number : 42 Question Id : 7155054263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The power radiated from a linear antenna of length [ is proportional to
(Given, /. = Wavelength of wave):
Options :

/
71550513475, A

/
71550513476, A°

-

gl
71550513477. A .

7
E..
71550513478, A

Question Number : 42 Question Id : 7155054263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fﬂ@é{édlﬁ IR g UfeA1 9 Uivd g% fafexur 2ifdd 9 & srsparardl
Ny

(A 8. o = T BT AT ).




Options :

/
71550513475, A

/
=¥
71550513476. A~

~

9
71550513477. A .

7
E..
71550513478, A

Question Number : 43 Question Id : 7155054264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a given transistor amplifier circuit in CE configuration Ve =1V, Re = 1kQ, Ry =100 kQ and f = 100.

Value of base current Ij is

|1

Vee=1v

Options:

71550513479, Ip = 0.1 pA

71550513480, Ip = 10 pA



71550513481, Ip = 1.0 pA

71550513482, Ip = 100 pA

Question Number : 43 Question Id : 7155054264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

{3 71U Tiforex yade gRuy & CE (IUAHE S&ui®) AHaa™ 3§, Vee = 1
V.Re=1kQ, Ry, =100kQ UG B= 100 § 3MUR YRT I, PTHH &

Ry, =100k0
AR ke
M Iy,
| |
| I
"'-"aEB VC'C =1V
Options :

71550513479, Ip = 0.1 pA

71550513480, Ip = 10 pA

71550513481, Ip = 1.0 pA

71550513482, Ip = 100 pA

Question Number : 44 Question Id : 7155054265 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A radio active material is reduced to 1/8 of its original amount in 3 days.

If 81072 kg of the material is left after 5 days the initial amount of the material is

Options:
71550513483, 32
71550513484, 40 g

71550513485, 2356 g

71550513486, 04

Question Number : 44 Question Id : 7155054265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

DI Jeuuided uare 3 fom & yeax - aafa® T3 &1 1/8 YFT I8 Widl
g1 4fd 5 {9 91 8x1073 ke YaTY d9d € dI, U P WRIAH HET 6

Options :
71550513483, 32
71550513484, 40 g

71550513485, 256 g

71550513486, 64 &

Question Number : 45 Question Id : 7155054266 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In photo electric effect

A The photocurrent is proportional to the mtensity of the mcident radiation.

B. Maximum Kinetic energy with which photoelectrons are emitted depends on the mtensity of mcident
light.

C. Max. K.E with which photoelectrons are emitted depends on the frequency of ncident light.

D. The emission of photoclectrons require a minimum threshold mtensity of meident radiation.

E. Max. KE of the photoelectrons 1s independent of the frequency of the incident light.

Choose the correct answer from the options given below:

Options :

71550513487, A and B only

71550513488, B and C only

71550513489, A and C only

71550513490, A and E only

Question Number : 45 Question Id : 7155054266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



UbIRT dggd UHTa H

A, YPTRI YRT, el fafdsRor bt el & SrsparTreh 8l 81

B. forg sifiimdw 1fast ot & UeT Sagel Sfold g1d 8, 98 Smafad
TP B digdt R AR et 31

c. fora i an ifae Soil & worw gaide = Safoid eid &, a8 simafad
TN B MR R R aargl

D. YRl S0ac | & Icoi & (¢18 ufad fafd=ur o1 U g-ad <gal
GIEGIICERE AR

E.%ﬁﬁﬁ&mmm,WWﬁmﬁmﬁﬁ

|

3 faw e faoped 71 9 SR

Options :

71550513487, PO AT B

71550513488, PO B Td C

71550513489, PAUA TG C

71550513490, PAU AT E

Question Number : 46 Question Id : 7155054267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The width of fringe is 2 mm on the screen in a double slits experiment for the light
of wavelength of 400 nm. The width of the fringe for the light of wavelength 600
nm will be:

Options :

71550513491. 2 mm

71550513492, 3 mm



71550513493. 4 mm

71550513494. 1.33 mm

Question Number : 46 Question Id : 7155054267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rt AT &, 400 nm T & UHTY & o0 TS, WR U bl &1 I1STS 2mm
%[ 600 nnlﬂ?jﬁiﬁaﬁW%ﬁmmfﬁ@%a’ﬂ

Options :

71550513491. 2 mm

71550513492, 3 mm

71550513493. 4 mm

71550513494, 1.33 mm

Question Number : 47 Question Id : 7155054268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The waves emitted when a metal target 1s bombarded with high energy electrons
are

Options :

71550513495, Radio Waves

71550513496, Infrared rays



71550513497, Microwaves

71550513498, X-1ays

Question Number : 47 Question Id : 7155054268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
3= Sl aTdl gage -l &1 SHER] YT 060 TR B I Iegfoid g5 avil o:

Options:

71550513495, =l T

71550513496, 3Ha¥dd {0

71550513497, 9&H X3

71550513498, X-fd30]

Question Number : 48 Question Id : 7155054269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An emf of 0.08 V is induced in a metal rod of length 10 em held normal to a
uniform magnetic field of 0.4 T. when moves with a velocity of:

Options :

71550513499, 20 ms™?

71550513500. 2 ms™



71550513501, 0.5 ms ™!

71550513502, 3.2 ms!

Question Number : 48 Question Id : 7155054269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.4 T & Ul U YUH FEH Y & H, & & TEdd 10 cm W] U Ulfidd TS
T 0.08 v I [dggd aIg® §a URd idl 5, 5id g8 (4 o7 3 71fd Bl &:

Options:

71550513499, 20 ms™.

71550513500. 2 ms™]

71550513501, 0.5 ms ™!

71550513502. 3.2 ms™!

Question Number : 49 Question Id : 7155054270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements; one 1s labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : Electromagnets are made of soft iron.
Reason R : Soft iron has high permeability and low retentivity.

In the light of above, statements. choose the most appropriate answer from the
options given below.



Options :

71550513503, Both A and R are correct and R is the correct explanation of A

71550513504, Both A and R are correct but R 1s NOT the correct explanation of A

71550513505. A is correct but R 15 not correct

71550513506. A is not correct but R 1s correct

Question Number : 49 Question Id : 7155054270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-9 & By [GU T B, U DI B UT A Ud GIR &I DRUIR HEl T & |

fUHYT A : faegaged RO AR I &1 el
PRUIR : G dle § 3= Jradhiadl Ud g 4Rl gidl o
S ®yHl & Tgy H, i du 7 faswedl & 9 98t SR I

Options :

71550513503, A U4 R &1 TSI § dUT A & Ul ARATR &

71550513504, A Ud R &I UE1 § YU A &1 Hel URATR Tel &

71550513505, A F6! 8 TG R A §

71550513506, AT 8 IR B ©

Question Number : 50 Question Id : 7155054271 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The equivalent resistance between A and B as shown in figure 1s:

10k €2

AO AW WW——0—VWW OB
20k Q 20k €2

Options :

71550513507. 5 k2
71550513508. 10 k&
71550513509, 20 k2

71550513510. 30 kQ

Question Number : 50 Question Id : 7155054271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
UeRid R H A Ud B & &9 &1 ged Uikl &

C 10k Q

A O——AANN——FAAMN D AN OB
20k O 20k Q)

Options:

71550513507. 5 k&2

71550513508. 10 k&

71550513509. 20 kQ



71550513510. 30 kQ

Physics Section B

SectionId : 715505262
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505262
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 7155054272 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A guitar string of length 90 cm vibrates with a fundamental frequency of 120 Hz.
The length of the string producing a fundamental frequency of 180 Hz will be
cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 51 Question Id : 7155054272 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

90 om T U [IER &1 AR 120 Hz BT HAHT 31GRT & H1Y G- PRl 5| 180
Hz JAHd 31 Pl Sd DR & (00 dR B SHTTRID ialg cm
B |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054273 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A steel rod of length 1 m and cross sectional area 10 m? is heated from 0°C to
200°C without being allowed to extend or bend. The compressive tension produced
in the rod 1s x10" N. (Given Young's modulus of steel = 2x 101! Z\'m'z,

coefficient of linear expansion = 10K 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 52 Question Id : 7155054273 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 m T T 107 m? U BIC GAD dlcll U Eld Pi §5 ! a1 Jaiikd
BU TG fa 1 43, 0°C ¥ 200°C T T fobal STl B | ©9 H 304 YISy d-1d Bl
o «10* N B (f&1 &, I BT TN = 2x10!! Nm 2, 1610
YIR UNP = 107K )|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155054274 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A hollow spherical ball of uniform density rolls up a curved surface with an mitial veloeity 3 m's (as shown in
figure). Maximum height with respect to the initial position covered by it will be cm

(take. g =10 111.-'53]

3 I
S

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 53 Question Id : 7155054274 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@5 W@ad! THIHA 99 ardt MiaeR Tig, fdl % dd IR 3 m/s & URMES
a7 Y el 8% dedl ol 18 &1 TR a1 & FTUef 39D gRI ad &l Ty
&rfﬂw”ﬁré cm@jﬁ@ﬁ:g=iﬂmsz}l

3 I
S

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054275 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body of mass 5 kg is moving with a momentum of 10 kg ms™. Now a force of 2 N acts on the body in the
direction of its motion for § 5. The mncrease i the Kimetic energy of the body 1s I

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054275 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5 kg GOTHM P By 1UUS, 10 ke ms™ & HAT I A PRIQ 51 3G, ST W2N
Waﬁ,vﬁraﬁ%ﬁmﬁs < @ feTU 3RITUG 811 ¢ | fUUs &t 71fl ol & g5 dia
I8l

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054276 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 600 pF capacitor is charged by 200 V supply. It 1s then disconnected from the
supply and 1s connected to another uncharged 600 pF capacitor. Electrostatic
energy lost in the process is wl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 55 Question Id : 7155054276 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

600 pF gTdl U TTRA B 200 V& Hid I a3 o onar g | iR sy 9 @
BT 1T of1dl & SIR el §8R 600 pF TRGT aTel SHIAIRIG HeTRa ¥ SIS e
oI & | 59 Wishar § AR degd Sl § B o BB

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054277 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

.
The ratio of wavelength of spectral lines Hy and Hp in the Balmer series is 20 The value of x 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054277 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



SR 90 B 1, W g @MWM%W@%&W&@W %ltﬁﬂﬁ gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054278 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two transparent media having refractive indices 1.0 and 1.5 are separated by a
spherical refracting surface of radius of curvature 30 cm. The centre of curvature
of surface 1s towards denser medium and a point object is placed on the principle
axis in rarer medium at a distance of 15 em from the pole of the surface. The
distance of image from the pole of the surface 1s cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054278 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1.0 T 1.5 3UdcaHie dTd & TREI H180H, 30 em 3501 910 MATHR Udds

Wéﬁgmw U A I % | UN P ashdl b - HIH I R &,
U9 fag 9%, [aRa Ay #, 437 318 R AU dd & 4 8 15 em DI QA
w@%ﬁmm%w@r,uﬁﬁmﬁgﬁ ?

Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054279 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A series combination of resistor of resistance 100 €, inductor of inductance 1 H
and capacitor of capacitance 6.25 uF is connected to an ac source. The quality
factor of the circuit will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054279 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 Q TT HiCRIY, 1 H YR alel UReb Ud 6.25 pF UTRdl ardd ST &1

Uit GaIo el gmadt Hid 8 S[s1 8| IRy &1 ural 7[0lid SN
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 59 Question Id : 7155054280 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The ratio of magnetic field at the centre of a current carrying coil of radius r to the magnetic field at distance r

from the centre of coil on its axis 1s \/; | . The value of x 15
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054280 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

+ P 9Tl URTATG] el & g I JHIbIg &8 1, Haci & Y N3P b5 8 ¢ Gl WIWDIY &7
I [y R BIAH gl

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054281 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

; : : M _1 ; i
The number density of free electrons in copper is nearly 8 x 10% m™. A copper wire has its atea of cross

10°¢

section =2 m* and 1s carrying a current of 3.2 A, The dnit speed of the electrons 15 <1078

ms!
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054281 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

16 3 7 g1 T SR B AT § ¢ 10 o™ & | Tl T 0 TR forinT SRy e 8F7he 2
108 m? § U4 T 3.2 A Y1 alied §1 31 &1 3eiag i ol ST 100 ms 1 B

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Section Marks : 80
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Question Number : 61 Question Id : 7155054282 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following have same number of significant figures?

A.0.00253
B. 1.0003
C 050

D. 163

Choose the correct answer from the options given below
Options :

71550513521, B and C only

71550513522, C and D only

71550513523, A. B and C only

71550513524, A, € and D only

Question Number : 61 Question Id : 7155054282 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
0 8 O foud grd® el o It 99 82

A, 0.00253
B. 1.0003
C.150

D. 163

-4 f3U T fae el & O el SR T:
Options :

71550513521, Pad B 3R C

71550513522, ad C 3R D

71550513523, BT A, B R C

71550513524, Pad A, C R D

Question Number : 62 Question Id : 7155054283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following gases in increasing order of van der Waals constant 'a’

A. Ar
B. CH,

C.H,0
D. C4Hj

Choose the correct option from the following.

Options :

71550513525, A.B.Cand D



71550513526, D. C. Band A

71550513527, B. C. D and A

71550513528, C.D. B and A

Question Number : 62 Question Id : 7155054283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
arex a1d (RIS 'a' & 9¢d hH H 14| & coaiyd &

A Ar
B. CH,

C.H,0
D. CgHg

A 14U U ool o 9 Hel SR :

Options :

71550513525, A, B, C 3[R D

71550513526, D. C. B 3R A

71550513527, B, C, D 3R A

71550513528, C. D, B 3R A

Question Number : 63 Question Id : 7155054284 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
The correct reaction profile diagram for a positive catalyst reaction.
Options :

M
Without . With
catalyst i catalyst

Energy ——=

Reactant  pyaduet  Product

™
-

71550513529. Reaction Coordinate

) With
Without — ~ 7 caralyst
T catalysi £y
2
2
Reactant Product
71550513530. Reaction Coordinate
Without

catalvst

T With
@ catalyst
- &
Reactant Product
71550513531. Reaction Coordinaie

With
catalyst

Without
catalyst

Energy —
e

Product

Reactant Product

.
ol

71550513532. Reaction Coordinate

Question Number : 63 Question Id : 7155054284 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gATHS IaiRd AT & fou g8t sfifea vegd 3RE §:

Options :

M
Without . With
T catalyst A catalyst
=y
o \
z b1
=
u ,
.
Reactant  pyoduet  Product

™
ol

71550513529. Reaction Coordinate

) With
Without — ~ 7 caralyst
T catalysi £y
2
T2
Reactant Product
71550513530. Reaction Coordinate
Without

catalvst

T With
= . o
%::- catalyst
Reactant Product
71550513531. Reaction Coordinate
Y
With Wi
ithout
catalyst catalyst

Product

Energy —
e

Reactant Product

.
ol

71550513532. Reaction Coordinate



Question Number : 64 Question Id : 7155054285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Henry Moseley studied characteristic X-ray spectra of elements. The graph which
represents his observation correctly 1s

Given v = frequency of X-ray emitted

Z = atomic number

Options:

71550513533.

I3

71550513534. 14

71550513535. z



A

Vo

71550513536. z

Question Number : 64 Question Id : 7155054285 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B} HIYd H dadl & & X-fohor Wl &1 3iedH fhgr| U off 39D
U&f0l D1 Ugl-Tel Houd ®dl &, d8 &:

fear mar g v = Ifold x-faxu 31 amafy
Z = OHTY] H3=A1

Options :

71550513533.

[

71550513534. 14



71550513535.

[

71550513536. z

Question Number : 65 Question Id : 7155054286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Hall - Heroult process, the following is used for reducing Al,O; :-
Options:

71550513537, NazAlFs

71550513538, Graphite

71550513539, Magnesium

71550513540, CaF»



Question Number : 65 Question Id

: 7155054286 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gld-gRice Ushd O, 0 T 9 B AL,0, & 3099 § IUgNT foa1 Wl 82

Options :

71550513537, NasAlFg

71550513538. e EE

71550513539, BUIRRH

71550513540, CaF

Question Number : 66 Question Id

: 7155054287 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can reduce decomposition of H,O, on exposure to light

Options:

71550513541, Alkali

71550513542, Urea

71550513543. Dust

71550513544, Glass containers

Question Number : 66 Question Id

: 7155054287 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
5 5 ¥ 3 TR &1 SURfd § H,0, & 3/0°c $I °el odl 82
Options :

71550513541, &

71550513542, n Y

71550513543, 481

71550513544, X% &1 U

Question Number : 67 Question Id : 7155054288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One 15 labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : Sodium 1s about 30 times as abundant as potassium in the oceans.
Reason R : Potassium 1s bigger in size than sodium.

In the light of the above statements, choose the correct answer from the options
given below

Options :
71550513545, Both A and R are true and R 1s the correct explanation of A

71550513546, Both A and R are true but R 1s NOT the correct explanation of A

71550513547. A is true but R 1z false



71550513548. A is false but R 1s true

Question Number : 67 Question Id : 7155054288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
- &l PYA U U B, TP DI SHIHPUT A Ud GER Bl HRUIR HEl 15

gﬁ‘wmg:aﬂﬁﬁ@%ﬁ,ﬁ%@mﬁwﬁ,aﬂmmwmﬂim
r

PRUTR : GIfST0 B a1 § UICREH &1 HHR 931 5
Sudad HYAl & YD H, A U T fdeedl & I 981 IR -
Options :

71550513545. AﬁRﬁFﬁ%ﬁﬂTAﬁﬂﬁmR%

71550513546, A U4 R &I UE1 € dYT A P! W6l URATR TRl &

71550513547, A ¥6! 8 WG RITAA ©

71550513548, AT & RGR el ©

Question Number : 68 Question Id : 7155054289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For a good quality cement, the ratio of lime to the total of the oxides of Si, Al and
Fe should be as close as to

Options :

71550513549. 1



(B

71550513550.
71550513551. 3

71550513552. 4

Question Number : 68 Question Id : 7155054289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 3= BIfcic] & AU e & U I Ud i, Al 3R Fe & HaHIS S DI el HE]
BT ST AT g =R T:

Options :

71550513549. 1

(o]

71550513550.

71550513551. 3

71550513552. 4

Question Number : 69 Question Id : 7155054290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
Coordination Complex Number of unpaired electrons

A [[C(CN)] L [0

B. [[Fe(H,0)4]*" I |3

C. [[Co(NHy)*™ 1L |2

D. [Ni(NH;)6]*" IV |4

Choose the correct answer from the options given below:
Options :

71550513553, A-II, B-IV, C-I. D-III

71550513554, A-IIL B-IV, C-1, D-II

71550513555, A-IL B-I. C-IV. D-III

71550513556, A-IV. B-III. C-II, D-I

Question Number : 69 Question Id : 7155054290 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

il 1 T foe 9=l 11 9 &6
ﬁ 1
uﬁﬁm 3Ry geraeiAl ot HeE

A_|[Cr(CN)] 3 L [0

B. |[Fe (H,0).]*" IL |3

C. [[Co (NHy)I*" L p

D. |[Ni (NH;)]*" V. |4

A= feu e foe el § 9 9ol 3R T
Options :

71550513553, A-IL B-IV, C-I. D-III



71550513554, A-IIL B-IV, C-1. D-II
71550513555, A-IL, B-I. C-IV. D-III

71550513556, A-IV, B-III, C-II, D-I

Question Number : 70 Question Id : 7155054291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these reactions 1s not a part of breakdown of ozone in stratosphere?
Options :

(WAY . R
21550513557 CFaCly () ——> Cl (g) + CF, Cl (g)

71550513558, ©1 (&) + O3 (g) ———= ClO (g) + O, (g)

71550513560, 2 ¢10 ——= ClO; (g) + Cl (g)

Question Number : 70 Question Id : 7155054291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= o 9 o 1 sifiifrar goar ea o el & faue o fgw 18l 82
Options :

v . R
71550513557 CF2Cly (8) ——— Cl (g) + CF, Cl (g)



71550513558, €1 (&) T O3 (g) —= (IO (g) + O, (g)

71550513559, ClO(g) +0O(g) ——=Cl (g) + O, (g)

71550513560, 2 €10 ———= ClO, (g) + Cl (g)

Question Number : 71 Question Id : 7155054292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Major product 'P' formed in the following reaction is:

= OH Br, p
/\/\([j( NaHCO, Major product
Options:

Br\/\/\"/(jl—i
71550513561. @)

Br
OH
71550513562. O
Br

Br OH

71550513563. O

71550513564.



Br O
@,

Question Number : 71 Question Id : 7155054292 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

[ aifirferar & i g 3dre P o:
_z OH Br, P
/\/\([j( NaHCO, Major product
Options :

Br\/\/\"/OH
71550513561. @)

Hr
(OH
71550513562. 0
Br

Br OH
71550513563. O

Br 0O

71550513564. O



Question Number : 72 Question Id : 7155054293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct IUPAC nomenclature for the following compound is:
O

CH CH
P 2N, i 3

COOH
Options :

71550513565, < - Formyl -5-methylhexan-6-oic acid
71550513566, J3-Formyl -2-methylhexanoic acid
71550513567, 3-Methyl-2-oxohexan-6-o1c acid

71550513568, <-Methyl-5-oxohexanoic acid

Question Number : 72 Question Id : 7155054293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
{5 GiffTes 1 ¥El TUPAC AU &:

O

CH CH
P s R et
H,C CH, L|.H
COOH
Options :

71550513565, 2 - DI -5-HUTER-6-35P TS

71550513566, 5- DI -2-HiYTRad UEs



71550513567, S-HIUT-2- HFHEFH-6-315D UHS

71550513568, 2-HIUT-5-SHTHIRTIT TS

Question Number : 73 Question Id : 7155054294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Th correct order of reactivity of following haloarenes towards nucleophilic substitution with aqueous NaOH is

Choose the correct answer from the options given below:
Options :

71550513569. A=B>=D=>C
71550513570. C=A=>=D>B

71550513571. D=C=>=B = A

71550513572. D=B*A=>C



Question Number : 73 Question Id : 7155054294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f Bl T Q7T el NaOH @ W1 freig) wioRaee sifefspansdl o o foparefiore o1 9l A ¢

Cl
A
Cl
B.
NO,
Cl
C
OMe
NO,
L
0,N NO,
R AT IR
Options :

71550513569. A=B=D=C

71550513570. C=A=D=B

71550513571. D>C=>B>A

71550513572. D=>B=A=C

Question Number : 74 Question Id : 7155054295 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The descending order of acidity for the following carboxylic acid is-

A. CH;COOH
B. F;C-COOH
C. CICH,—-COOH
D. FCH,—COOH
E. BrCH,—-COOH
Choose the correct answer from the options given below:

Options :

71550513573. E=D=>=B>A>C
71550513574. B> C>=D>E>A
71550513575. D=>B>A>E>C

71550513576. B=D>C>=E>A

Question Number : 74 Question Id : 7155054295 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g Hraiiaaies i & foTU 3FIdl & Ucdl P H &:

A. CH;COOH
B. F;C-COOH

C. CICH,-COOH
D. FCH,~COOH
E. BrCH,~COOH

- f3U T f9eedl & O 9ol SR I:

Options :

71550513573. E=D=>=B>A>C



71550513574. B=C=>D>E=>=A
71550513575. D =B >A>E>C

71550513576. B=D>=C>=E=A

Question Number : 75 Question Id : 7155054296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A compound 'X' when treated with phthalic anhydride in presence of concentrated H,80, yields 'Y". 'Y 15

used as an acid/base indicator. X' and 'Y are respectively
Options :

71550513577, Anisole, methyl orange

71550513578, Toludine, Phenolphthalein

71550513579, Salicylaldehyde, Phenolphthalen

71550513580, Carbolic acid, Phenolphthalein

Question Number : 75 Question Id : 7155054296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T Tifid X' W% H,S0, T Suruf 7 3o torggRs & 1y STad #7- W'Y Sl 81 'Y @l
ST 3T-4R Yed & &9 1 fF T 31X W Y 8, P -

Options :

71550513577. Ql Eimfﬁ”aﬁ 3RS



A L
71550513578. Eilé RIRICESRIE

71550513579, ¥ SR iﬁ%@ 25, SHEINEINIE

71550513580, PIaICIe URTS, BHTw

Question Number : 76 Question Id : 7155054297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The product (P) formed from the following multistep reaction is:

(i} Br,

i) H, / Pd
[0 ou s
, (i) NaNO,, HCIL, O°C Product

(iv) H;PO,

Options :

Br

71550513581, H3C

71550513582, HiC Br

OH

71550513583, it Br



Br OH

71550513584, ¢

Question Number : 76 Question Id : 7155054297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

forg sg=Rolt siffran & Rffa Sae (@)
NO, (1) Bry
(i) H, / Pd
= 3 =i ::- {EJJ
(iif) NaNO,, HCl, 0°C Product
H,C :
_ (iv) H4PO,
Options :

pO

71550513581, H3C

IO
Br

OH

Br
OH

71550513582, Hit

71550513583. it

Br

71550513584, ¢

Question Number : 77 Question Id : 7155054298 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The statement/s which are true about antagonists from the following is/are:

A. They bind to the receptor site.

B. Get transferred inside the cell for their action.
C. Inhibit the natural communication of the body.
D. Mimic the natural messenger.

Choose the correct answer from the options given below:
Options :

71550513585, A and B
71550513586, A. C and D

71550513587, B only

71550513588. A and C

Question Number : 77 Question Id : 7155054298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ﬁ_ﬁ H I d oye ol fa et (antagonists) G Eﬁﬁ 1{:l_Eﬁ %’ %

A. 9 39 ITET Fdg Y SAT6fUd gId B
B. 310 {551 & o0 BIfBT & 3aR WIHIdR &1 rd B
C. IR Ui G B T SfaRlY Ioqd R 8|

D. Wi YeRAed &I 9P Bd o |
=i fau Y fd@ el O 9 981 SR I:

Options :

71550513585, AUd B

71550513586, A. CUA D



71550513587, dd B

71550513588, AUd C

Question Number : 78 Question Id : 7155054299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
Natural amino acid One letter code
A |Glutamic acid I |Q
B. |[Glutamine IT. [W
C. |[Tyrosine III. |E
D. [Tryptophan IV |Y

Choose the correct answer from the options given below:
Options :

71550513589, A-IIL, B-I, C-IV, D-II

71550513590, A-IIL. B-IV. C-I. D-II

71550513591, A-IL B-I, C-IV, D-III

71550513592, A-IV. B-III. C-I. D-II

Question Number : 78 Question Id : 7155054299 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



il 1 T fHe =l 11 F B

uwﬁﬁ%m T AGR BIS
T 3

A L |Q
B. [facHiH 1. [w
C. [erZydH L [E
D. [[CPTtEd vV [Y
- fau e fam el T 9§ 981 SR I:
Options :

71550513589, A-IIL, B-I. C-IV, D-II

71550513590, A-IIIL. B-IV. C-I. D-II

71550513591, A-IL, B-I, C-IV, D-III

71550513592, A-IV. B-III. C-I. D-II

Question Number : 79 Question Id : 7155054300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I : Methyl orange 1s a weak acid.

Statement IT : The benzenoid form of methyl orange 1s more intense/deeply
coloured than the quinonoid form.

In the light of the above statement. choose the most appropriate answer from the
options given below:

Options :

71550513593, Both statement I and Statement II are correct

71550513594. Both Statement [ and Statement I are incorrect



71550513595, Statement I 1s correct but Statement II 1s incorrect

71550513596. Statement I 1s incorrect but Statement I1 1s correct

Question Number : 79 Question Id : 7155054300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 g FYF U E;
HYF 1 : BT AR TP gdd I g

Y 1 : HIUA RS B d5198 &4, [BH1gs =9 o ga1H 3ifdd e
T HTE

Sudad Syl & HgH I, A4 fqu Tt fde el ¥ § wallde Suged 3w 9H:

Options:

71550513593, PYU1 U4 HYF 11 &H1 Uel o

71550513594, DU I Td HYA I &1 7Tad o

71550513595, PU 1 TRT § TR~ U 11 710 5 |

71550513596, PU 1 TTEId € TR-g P 11 ¥1 &

Question Number : 80 Question Id : 7155054301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I : In redox titration, the indicators used are sensitive to change in pH
of the solution.

Statement IT : In acid-base titration, the indicators used are sensitive to change in
oxidation potential.

In the light of the above statements, choose the most appropriate answer from the
options given below

Options :

71550513597. Both Statement I and Statement II are correct
71550513598. Both Statement [ and Statement I are incorrect
71550513599. Statement I 1s correct but Statement IT 15 incorrect

71550513600. Statement I 15 incorrect but Statement I 1s correct

Question Number : 80 Question Id : 7155054301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

J I HYT U E:

HYT1: RSl o YT fbU o aTel Jad [daa & pH | gikadd &
uﬁrﬁaﬁqnﬂaﬁﬁgl

HY 11 : 3T1-&1R SFATI H AT T ST aTet I SHRNGRUT [GHa &
qRad & 9fd ae=iia 81d B

Sya Byl & Hgu H, 1< 3 U fqepedl I 4 Haiiie 3uged 3w I

Options :

71550513597, DU 1 Td HYF I &HI Tl o

71550513598, U 1 Ud HYA II &H 7Teid g |



71550513599, PUT 1 ! § TR-g Y 11 710d g

71550513600, PU L TTEd € UR-g PY 11 T8I &
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Question Number : 81 Question Id : 7155054302 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of atomic orbitals from the following having 5 radial nodes 1s

7s. Tp, 6s, 8p, &d

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 7155054302 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fe RO Seidd s B destEida sadi pig=n
7s. 7p, 6s. 8p. 8d

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054303 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of species from the following carrying a single lone pair on central
atom Xenon is

XeF; ', XeO3, XeO,F,, XeF5 , XeO3F,, XeOF,, XcF,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054303 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{7 & 9 37 Wiiel & 91 f5d dslg TRA SiHH R dad U TD[P]
T IURYG &

X'EF:';__. KE03, XEOEFET X'EF::__. X'EO_'-}FE_. XEOP4 XEF4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054304 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For complete combustion of ethene,

C,H,(g) + 30,(g) — 2C0y(g) + 2H,0 ()

the amount of heat produced as measured in bomb calorimeter is 1406 kJ mol ™ at 300K. The minimum value
of TAS needed to reach equilibrium is (-) kJ.(Nearest integer)

Given : R=8.3 JK mol™!

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054304 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ui & O 2§ & 00 C,H,(p) + 30,(e) — 200,(0) + 2H,0 ()

300K &9 raiRIwTeR & AT} T 3T 1406 kT mol ™! § 1 SRR W UG TH 8q TAS PI < HH o)
kT |(Feeas quites )

feaT T 8: R=8.3 TK~! mol™!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155054305 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the boiling points of two solvents X and Y (having same molecular weights) are
in the ratio 2:1 and their enthalpy of vaporizations are in the ratio 1:2, then the
boiling point elevation constant of X 1s m times the boiling point elevation
constant of Y. The value of m 1s (nearest integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 84 Question Id : 7155054305 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

O U[UR 3@+ ald &l [dA™e] X Ud Y & Huid] Bl 30T 2:1 5 aYl
T AT I TR BT U 1:2 1 X & HYHID S84 [RRI®, Y &
TP A0 RRIP BT m T 8| m PIHAH T (Mavean quie 1)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054306 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The solubility product of BaSO, 1s 1x 10719 at 208K. The solubility of BaSO 410
0.1 M K-S0, (aq) solution is « 107 g L 7! (nearest integer).

Given: Molar mass of Ba80,415 233 g mol ™!
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 85 Question Id : 7155054306 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

298K WX BaSO,, 1 [a0Tdl U 1210712 §1 0.1 MK,S0, (aq) fdaaa

BaSO, ®! faeiar x 107 ¢ L7! § (Mavead uife #)

&7 7491 §: BaSO, 1 HITR So0HH 233g mol 1 §
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054307 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of incorrect statements from the following 1

A The electrical work that a reaction can perform at constant pressure and temperature is equal to the
reaction Gibbs energy.
B. E° . 15 dependent on the pressure.

dE'cell  AS’
£ =

dT il
D. A cell 15 operating reversibly if the cell potential 1s exactly balanced by an opposing source of potential
difference.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 86 Question Id : 7155054307 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

F E 3 R U o 9ET ©:

A, TR 279 d U R (ol siffohan g1 foban o ) aren forg e atfiifopan 1 et 3l &
IR G|
B.E°, A8 R R a1

" dE cell _AS

dT nF
D. T Uel SshAviiy &0 T &7 8% X1 & Ui 9t fava faudia 9id & favars & foepd avat &l

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155054308 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Coagulating value of the electrolytes AICl; and NaCl for As,S; are 0.09 and 50.04 respectively. The

coagulating power of AICl; 1s x times the coagulating power of NaCl. The value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 87 Question Id : 7155054308 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
As,S, & e 1010 fagya 3ueel AICI, Ud NaCIaT @he A1 HHT: 0.09 Ud 50.04 §1 AlCL B
T & NaCl P Eheet a5 x PTHM

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054309 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of sigma and n bonds present in pyrophosphoric acid 1s
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054309 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
UGRS3 H FURRYd w1 Ua « 5= &7 30 &:

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155054310 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of oxidation state of the metals in Fe(CO)s, VO*™ and WO; is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155054310 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

Fe(CO)s, VO™ Td WO, H UTq3il & SiTeRiiep=ul Jarsii &1 aim & :
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 90 Question Id : 7155054311 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The observed magnetic moment of the complex [Mn(NCS)4)]" s 6.06 BM. The numerical value of x s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 7155054311 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

P d [Mn(NCS)o) [~ D1 T Ty ol 6.06 BM § | x BT T 8:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



